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INSTRUCTIONS TO CANDIDATES 

1 .  Immediately after the commencement of the E x a m i n a t i o n , ·  you s h o u l d  check that this 

Booklet does not have any unprinted or torn or m i s s i n g  pages or items, etc. If any 

of the above defects is found, get it replaced by a Complete Question Booklet of the 

available series. 

2. Write clearly the Question Booklet Version Code A, B, C, D o r  E, in the appropriate 

space provided for the purpose, in the O M R  Answer Sheet. 

3. Enter the name of the Subject, Reg. N o . ,  Question Booklet version code and affix 

Signature on the O M R  sheet. As the answer sheets are designed to suit the Optical 

Mark Reader ( 0 . M . RR . )  system, special care should be taken to fil l those items 

accurately. 

4. This Question Booklet contains 70 questions carrying equal marks. All questions must 

be attempted. Each question contains tour answers, among them one correct answer 

s h o u l d  be selected and shade the corresponding option in the O M R  sheet. 

5.  All the answers s h o u l d  be marked only on the O MR sheet provided and only with a 

black or blue i n k  ball point pe n .  If more than one circle is shaded / wrongly shaded / 

half shaded for a given question no marks will be awarded. 

6. Questions are in hoth Fnalish and Kannada If znu oanfeinn arieoe in tho Kannard 
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ex,@Frier z233r's¢ 

1 .  a'oe6,,0ozrior 3ae U a, 30 b03orad' e» o0cs ex dace e aepbgcd 
0) ! 0} .' e  D  to  .  c  

a2,0rib2 @es3 aoert,d, bee8 abs3cde deed ob.ore, ed?}, %3cbn» ee3},2obs' 'hear ac3 

vied ! ab&b 3i013,d. 
% -? S o  

2. a,a2a a3ads r &ea" A, B, C, D e» Ea13 (OMRR) egad3, e'so,n a.an'ends' 
a D el ? co d 

<l8 'e 2ob0de. 
-o Q 

3. eugo al3a (2..o.eon.) bes pr0a»a #de, aosz, at, de0rd so3, ad z, al38 a'ls sr 

ea" borlo #&ob&, &kb0re&. eu3 al3rb e&er ads+ 0ea (0.M.RR.) a3,a# esbrbras»n 
el el ed . O  Q  

30b5'00ad #ado ad&3rsb, .a 2pp00' 23F die. 

4. 3a6070 a3rid, .rteo@rd, #d} eosris}, a00b.gd. a€, 3zrirle ugose3. z,3c2cc.b 

3ri ave eugorisb, peooncd3id. 5,3 zdzri 001pd 2.ch eugcddl, ad3, eo3 ad@ice, eo}, 
d@a} eu3ssb t.o.e0. &3 a30b 8ear adae. 

D el aD 

5. 292 eu3rb abrizcdnvcd..o.&. &3 ad3b ab be& a! eg be 2a0b 2pr co&3° 
? ? et ? " 

a#,po rbxs ab cze. 2.orb 55« 2.ob 3zrf 2.0&o ae, ad,grid, 433r ad@rd,/ s), ,grip, e#er 

ad@r,/ear drib, e33r @r, ace eorl}, @eaerbse, 

6. 3iris g ad er}, via@gig3ad. 3zrie, #cc'cs evos', cop±32, eor,, pesto: zjriii2, 
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d) b) at c) ad 
• 

2. Aerobic method of decomposing of solid wastes is known as 

a) Pyrolysis b) Composting 

c) Gasification d) Saponification 

3l a2,2,7'b, 02ee:» &#rba3 dezz gs' acb 

a) a#dee»»r b) a3ripe&so 

c) e?ea d) »2&ea 

3. According to Biomedical waste (Management and Handling) Rules, 1998 waste 
should not be stored beyond 

a) 12 hours b) 48 hours c) 72 hours d) 96 hours 

et,a8 a$diet ,a (sass b3 @ s) 20ab, 1998 0 zi2 s a2ax,r'kb2 
rlouir'ens 22,2e or&rad. 

a) 12  7our'sb b) 48 7ours c) 72 rrsb d) 96 r'&ire? 

4. Biomedical waste may be disposed off by 

a) Incineration 

c) Landfill 

b) Composting 

d) None of these 
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6. Occupational Health Research Institute is at 
a) Kanpur b) Jammu c) Chennai 

Ed2 ens eder] oee» #lo, 3 3rlce ad 

a) vasbg b) est2 c) 

d) Ahmadabad 

7. The alternative system of medicine based on the principle that "like cures like" is 
a) Naturopathic medicine b) Ayurvedic medicine 
c) Homeopathic medicine d) All the above 

"er 5r es" oz 33,ad ego3 lat»r 0b 5al4'o' 3,adi, acd 

a) &2a±decals id add, b) easer os sic}, ad 

c) &scaaoczt3 sd, ad8 d) d e e  

8. DTP stands for 
a) Diphtheria Tetanus and Pertussis 
b) Diphtheria Tetanus and Pneumonia 
c) Diphtheria Tetanus and Prevnar 
d) All the above 

a&3201 2» dos acd 
..D 

a) @3e0ad &&3,° b3 d&3F25 
25 -o 

b) a3epod vu3ssr ad3 ad,ate eat 
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a) e02 3g° 

c) aeF ,or2go° 

10 .  Unani medicine approach first started in 

a) India 

c) England 

b) ad,arr aig° 

d) bes odd ee 
M 

b) Greece 

d) USA 

02262 d,,ad,o5bl, a@re cord » d e ,  a3,do&pr'2 cps 

a) &pc'3 b) 7es° 

c) aorjoas° 
M 

1 1 .  Major function of protein is to 

a) Provide essential fatty acids 

b) Promote growth and repair of the body 

c) Helps in nerve stimulation 

d) Medium for temperature regulation 

age83@! z3db-2 2 br acd 

a) erk,ad ~02272a92ril2,2.rn»is3ch> 

b) dead zsaer abs zbGzr' eu oecd 
.0 .D D 
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a) er a2€ 

c) er e ob002 ad3 

13 .  Diseases that spread by contact are 

a) Bronchitis 

c) Chickenpox 

soar 0oa' as' doer's as 

a) a2ssr' z.sad0b &0ab3 

c) 3&32 c3 

b) ec/ 200/&2aDF 9,7, • 

d) bes at»sad ee, 

b) Tuberculosis and AIDS 

d) None of the above 

b) o<rd ad m, 

d) des abscd@ ee, 

14 .  Jaundice is related to malfunctioning of 

a) Pancreas b) Liver c) Kidney 

bod erk, b' c eorad esb bobF a 

a) dedea3e 7o@ b) , c) ad23aor 

15 .  Cardiomyopathy can cause such symptoms as 

a) Shortness of breath b) Fatigue 

c) Both a) and b) d) None of these 

v2@r 0b00ed3ab &cans ad 
cl 

d) Heart 

d) a,co5 
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17 .  The number of individual food items or tooad groups consumea over a grven 

period of time 

a) Genetic diversity 

c) Species diversity 

b) Biodiversity 

d) Dietary diversity 

ooradskbob e00b ea' ad.e ea2d sore er &2d r7boar' ls 
e ? r ' '  7  "'  

a) else0rd, b) e#,a8 ,55d, 
c) as sod, 0) escd ,5, 

18 .  A  chronic obstructive pulmonary disease in which the inner walls of the air sac 
are weakened and eventually ruptured ? 
a) Asthma b) Emphysema 
c) Bronchitis d) Encephalitis 

Toso2 23e&' a.s redrkb dr eris vrlo eobx @drib 0er ex 
zd,3deg' , #e3' c? ad 

a) ev'doer b) ao85b 
2) 

C) �oi� d) ���'"'�0�'6 (���e;eJ;;:1) 
" % '  '  'g8 

19 .  The food that provides bulk energy for an organism's metabolic system to 
function 

a) Macro nutrients 
c) Essential nutrients 

a:e2rs a2301a3032 a3,adj 2 02F 5F &#' 2sl,33 05,¢2 2.c37sb5' ed act 

a) aeon's b) <8,pea2or's 

b) Micro nutrients 
d) Non essential nutrients 

BMSCW LIBRARY

BMSCW LIBRARY 



2 1 .  Chemical agriculture is the study of both chemistry and biochemistry which 
are used in 

a) Agricultural production 

b) The processing of raw products into foods and beverages 

c) The environmental monitoring and remediation 

d) All the above 

2#022 &a02 020b3 223l, ads z3ea2013 22#}, r0 cs 
° eb o e± ( 

ed,0b3; 02»ab aobb a ea3sen3ls2 
O C a co .0 

a) 3# ca2'? 

b) s2,r' 305,02 3} e0 b3' eorson add3cd 
2J o el d o el 

c) 30s de,22cs db3, do0d 

d) bed €a 
v 

22. Which among these is a natural aerosol ? 

a) Salt b) Soot 

c) CFC d) None of above 

socs3rs, scd ,7'nr a2 022g3,' ? 

a) us, b) b» 
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. .  
a) a?ob a0a'r's evosb ab3 ao o a}  zba' a3r' 

. .D 

b) begs' aid e3 
c) aA0db abs eoer' ad 
d) 2or3 32ads o 

24. Factors that influence health are 

a) Socio-economic environment 

c) Individual behavior 

ederya' de g3&pa web' er's as 

a) A2ad2 e@r a232do 

c) d,01.8 rd 

25. Lack of potassium leads to 

a) Rickets 

c) Weakened connective tissue 

72&5,oto c a'i, s2peas»rtgd 
a) ous, 
c) cbr erioa so0e eoroo8 

b) Living habitat 

d) All the above 

b) Tendency to hemorrhage 

d) Muscle weakness 

b) 0@52,ad md, 
d) mo c?ere 

26. Public health function is 

a) Prolong life of the population b) Promote health 

c) Prevent diseases d) All of the above 

ad =a o eder] a€0b b202F hod 

a) 23 23e32a00bb 235baa? b) es edersb eu3ab@sbsb 
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d) Tertiary consumers such as tuna and sharks 

6sns' z:eons, sch s, eorzris, e3,cs ad3,' ' dRd, 5ogd,sobs%2 
00da' 20e a? 

c  

a) aa3, +,ei@ea2.g92p"loss ap,saps euspcd 

b) 252.0,r7lo3} 353,0}28 7p, d 

c) so@ssrre ad agorFr'sos 0,3¢0 8c3d 73,acd 

d) 43g,3 aeb ad.g 2oner'cs 3,3eo2 a3a mp,acd 

36. TB is caused by 

a) Bacteria 

c) Protozoa 

8ab den' ad0o &uo&2rs' 
0 .D 

a) be&32£a 

c) as,eeied2&» 

b) Virus 

d) None of the above 

b) den2ca 

d) zed as3de ee, 

37. Department of Indian System of Medicine and Homeopathy (ISM and H) was 

created in the year 

a) 2005 b) 1995 c) 1990 d) 2014 
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a) Textile industry workers b) IT industry workers 

c) Coal mining workers d) Food processing industry workers 

dg,aiceae= oz derkz zaba2pp/ a er'rc, oz.cdgd 

a) as evgd,ad b) a.e3. eu3,ad 

c) e 7le eurd,ad d) ea 5lo3co evd,ab 

40. Dermatitis is problem. 

a) Lung b) Heart c) Kidney 

r ,&39° a00 a'. 

a) z~¢3 b) cdo c) st3aor 

4 1 .  Function of vitamin D is 

a) Necessary for iron metabolism 

b) Acts as an antioxidant 

c) Aids in the absorption of calcium 

d) None of the above 

3a° @ d bobr acd 

a) acd &e2gad a#oshsa:ti, ert, 

b) act eugate ea deg»n 2abF Os &#l3d 

c) acb so.oboes &ebs? 20b ad cs3 

d) Skin 

d) assbr 

BMSCW LIBRARY

BMSCW LIBRARY 



43. The genes causing cancer are 
a) Structural genes 
c) Regulatory genes 

52,&0° 2'e 22r'a' zcar7 rad 

a) ca#3' a3erk 

c) &ob03, 2car7b 

b) Oncogenes 
d) Metastasis 

b) eoie3ear'? 
d) 52,sos &errs? 

44. Allergy is an exaggerated immune response that is caused by 

a) Various allergens b) Hypersensitivity 

c) Autoimmunity d) None of the above 

eea3F o2.rd acoo3 evou32rd eu53 5d,30p» 326,0 
a) a5geeer son? b) e30, 
c) obos»es 0s% d) des} as)do ee, 

45. Good personal hygiene helps in prevention of 
a) Tooth decay 
b) Disease and sickness 
c) Losing hair 
d) None of the above 

vgah ob.g dose aads#2 a#rteas?e,#do: d ad.3c 
a) &,' abs 
b) deer' ads &barb 3so# 
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47. The agency that has laid down the standards for the control of pollution of air, 
water and noise is 

a) Central Pollution Control Tribunal b) Central Pollution Control Agency 

c) Ministry of Home Affairs d) Central Pollution Control Board 

rs, oecd ad2 8.2,ad@Rd,a at03,es2, ad'3orris}2,208.cl53' 7oz, acd 

a) egd ad}, o203 30.2,'er b) ~eogd, ad,] 2o203ea lo! 
c) 7d,3 ad,a 0rs sseb d) 6eog3 ad], 2o203ea abode 

48. People who are unable to acquire basic food they need to function are 
considered as 

a) Deprived of food b) Well nourished 

c) Undernourished d) Unlucky 

3br' ab2eedcso ceoad ea aogr rs} adobe2 52g3,ar' ab & eriocb 
7b0db3l32 

• 

a) ea0oa} ado3o2ad 
c) soon 2eaeg3cab 

. . 

49. An environmental audit helps in achieving the 
a) Resource usage optimization b) Minimization of waste generation 
c) Public awareness d) All of these 

a'or'oa}' aloe'3 acl2, 52 05b53'9,'barb3cd 
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gee° boos, 3020,'e3, & sn3 01' a0b 32/\03 ? 
T ed c 

a) 52re ices° ee #e0 ec3 

b) 202db 2d 52deg 
. · < c  

c) Bebee &de zj&exp eo3 

d) ad 1984 0 @o2or 2 d3 30 2 03,3dos 

5 1 .  The depletion of which of the following can contribute to stronger UV rays 
reaching earth ? 

a) Oxygen b) Carbon dioxide c) Both a) and b) d) Ozone layer 

& n3r's a10b @01a es3e &0or's? dabs 3eacd 
¢ e 

aenrtgc3? 
a) ea!gs b) aore de,° c) a) ab3b) a&ads d) .dear al 

52. Ozone layer is present in 

a) Troposphere 

c) Stratosphere 

t.dpesr cc3 ace rad 
M 

a) es«zoo° 
c) m,eiac00° 

b) Mesosphere 

d) Atmosphere 

b) ad#ez020° 

d) eu3ob0° (»2''so) 

53. Which of the following greenhouse gases is entirely anthropogenic in origin ? 

a) CFC b) CO, c) Water vapour d) Methane 
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a) %des a 

c) 4as? ad&} 

b) et2,ads? 

d) be a1ado ee, 

55. Kyoto protocol is agreement among countries 

a) To reduce global warming 

b) To reduce acid rain 

c) To reduce fossil fuel usage 

d) To reduce the number of industries 

2503 desn «abs' ad@#o@ds' e cue ageuseer a.soda} ere acd 

a) 22rd3 32d oobb @bros3c 

b) ea?gdosb est9#a3cd 

c) lobs aoc'r's 2.sos., a3 ads3cd 

d) #7or o3,ob¢2 i2 adas)cd 

56. The term greenhouse effect was first investigated by this scientist 

a) Joseph Fourier b) Svante Arrhenius 

c) Both a) and b) d) None of the above 

ad abs3 sorosb oz ads}by ace or' 5 2252,, 3s' d@ad 
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d) All the above 

lo,3ob2 +.02,5o eden]' ate¢ &er1 3dear zedgcd 

a) deer?ear abs'dz z e#orbs cdb abs eal, acsirteasp. 

b) owe, 3e3 ad a 

c) d,ad,door dsere&gar zrf 23F a' a&A3 
e ch 0 Q 

d) e &ad? 
(y 

65. Global warming due to agricultural practice is through 

a) Soya bean and wheat system grown in sub-humid area 

b) Increased usage of chemical fertilizers and pesticides 

c) Paddy field 

d) All the above 

# a#e35es02200 22r'3 32akdad o &» be erg 

a) lea 2es° abs roe@ob 7sob @ad 3evo3 ad' a,de_ ?bx3cb 
0 e ' 

b) osriop ab &e&3,2sir? a03,' 2s 
~ > 7% 

c) 23} r3 
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d) Fermentation of solid waste 

zds'err Boa2Us &es° z.ob eoe, ad &er e330127b33 
co 

a) gs'a2,2:,c pd·ezz zer so, 

b) ska2,a,0 eds&ts zecar soot, 

c) 3' 32,2.a' a3des° 800 
r  E ¢  

d) ' 2,a4,ad sbrrbpc 3 ob2ape, 

67. One of the best solutions to get rid of non-biodegradable wastes is 

a) Burning b) Dumping 

c) Burying d) Recycling 

ee$,as as&pea a2,zag rib .pcicbswsev e2,gab ado'rise acd zocd 

a) srbsgcd b) ob23cd 

c) ass3cb d) bcbes adcd 

68. What is the life-time of methane ? 

a) 1 3  years 

c) 1 5  years 

2eesr eRe 2e32@ ad,? 

b) 1 4  years 

d) 12  years 
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52'015' 32,24,5'%2, dbsr's ab@es a3ri@2,pan a'0ab5ad2, er1ocb» 

db32 
D 

a) e a3riegpe'ea 

b) a0a.022sch 

c) a2a5,02or° 
d) ads? rte,pees 

70. Safe work practices to prevent injury and accidents may mean by using 

a) Prescribed personal protection equipments 

b) Safe manual-handling techniques 

c) Safe handling of chemicals 

d) All the above 

mob ab3 eosn' d0} 8,ar'2ad b&3 er' es' oa'd 
.o el ' c) ? 

as3r's? 

a) Kl2320d $,0188 0po &v a r  es8 
& .0 ch 

b) +bx'oz,a@-&sr ass so3r' 

c) 02»0bo8 #Cd±3 oar &rs2 sad 

d) de € 
(v 
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